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onpeaeneHue

OKCMACIMM HA3bIBAIOTCA CAOXHbIE
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| N3 meTannos I

ypaBHeHMe

2Mqg + O2 = 2MgO
S g g



ypaBHeHMe

S+ O2 =S02




N3 ocHOBaHuUU

Cu (OH)2 —» CuO + H20




3 coneun

ypaBHeHNe

2KMn04—> KzMnO4 + Mn02+02




N3 Kucnor

ypaBHEHUue

H2CO3 — CO2 + H20




OCcHOBHbIe okcuAabl

C KUCINOTHbIMU

oKCUnaammn

\ C kucnoramm




ypaBHeHMe

K20 + H20 = 2KOH



CaO+CO2 — CaCO3

| YpaBHEHUE



C KkKmcaotTamu

N /4

ypaBHEHME

CuO+2HCI — CuCl2 + H20




KucnotHble okcuabl

C OCHOBHbIMU
HeMex rad oKcUaamu

\ C ocHoBaHuAMMU




ypaBHeHMe

SO2 +H,0= H,SO
(2



CaO+CO2 — CaCO3

| YpaBHEHUE



ypaBHeHMe

CO2 +Ca(OH)2= CaCO, +H20



MCMNOAb3OBAHHbBIE PECYPCHI: .

BMAEOMATEPUAADI.

1 1C:Penetmrop. Xmmma.
1 1C:0O6pa30BATEABHAN KOAAEKLLMNA KXMMMSI AAG BCEX
XXI (xmmyeckme onbiTbl CO B3PbIBAMM 1 OE3)N

1 BuptyaabHas Aabopatopmsd. OTKPbITAd XMMMA 8-1 1
KAQCC. Y4eBHOE SAEKTPOHHOE U3AQHME.
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